
 

 

Q1 What is the full name of Google? 
(a)Global Organization Of Oriented Group Language 
(b)Global Organization Of Oriented Group Of Earth 
(c)Global Oriented Group Language Of Earth 
(d)Global Organization Of Oriented Group Language Of Earth 

 

Q.1 Which among the following country is the host of 2018 Commonwealth 
Games? 
(a)France                                                                     (b)Australia  
(c)Japan                                                                       (d)None of these 
 
Q.2 The word “Agricultural shot” is known to be used sometimes in which 
among the following sports? 
(a)Cricket                                                                     (b)Golf 
(c)Hockey                                                                     (d)none of These 

Q3: Who is Rafa Nadal? 
(a)Tenis Player                                                            (b)Golf Player 
(c)Hocky Player                                                           (d)Football Player 
 
Q4 What is the full form of HTML? 
(a)Hyper Markup Language                                        (b)Hypertext Markup Language 
(c)Hypertext Language                                                (d)None of these 

Q.5 Which among the following country is the host of 2018 Commonwealth 
Games? 
(a)France                                                                     (b)Australia  
(c)Japan                                                                       (d)None of these 
 
Q6 What is the full form of laptop? 
(a)Lightweight with Total Optimized Power 
(b):Lightweight Analytical Platform with Total Optimized Power 
(c)Lightweight Analytical Optimized Power 
(d)None of these 
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Q.7What is the full form of window? 
(a)Wide Interactive for Office work Solution 
(b)Lightweight Platform with Total Optimized Power 
(c)Wide Interactive Network Development for Office work Solution 
(d)None of these 
 

Q8 Which describes the relationship of A and B when A measures 50° and B 
measures 40°? 
A. complementary angles                                                 B. obtuse angles 
C. supplementary angles                                                  D. vertical angles 

Q.9 Which plastic cannot be breakable? 
(a) Thermo                                                                        (b) Thermosetting 
(c) Heated                                                                         (d) Pasteurized 

Q.10 What is the chemical name of sulphuric acid? 
(a) NAcL                                                                             (b) H2o 
(c) H2SO4                                                                          (d) Not the above 
 

Q.11 Which of the following is not a synthetic fibre? 
(a) Rayon                                                                           (b) Nylon 
(c) Jute                                                                               (b) Nylon 
 
Q.12Vitamin E is important for 
(a)protecting cells                                                              (b)vital tissues protection 
(c)both a and b                                                                  (d)development of bones 
 
Q13: A disease Kwashiorkor is caused by the deficiency of 
(a)vitamins                                                                         b)proteins 
  (c)carbohydrates                                                             (d)fats 

 
Q14 Genghis Khan was died in the year 
(a)1805                                                                             (b)1206 
(c)1205                                                                             (d)1306 
 

Q.15 In which year Napoleon I crowned himself as Emperor of France 
(a)1789                                                                            (b)1745 
(c)1804                                                                             (d)1904 
 
 


